[Arc macro for extracting environmental data for geolocated scientific collections and adding the environmental data back into the Excel spreadsheet with the collection data. Written by Scott Haag, CRSSA, Rutgers University © 2010]

/* updated extract for grid coverages

&sys dir *.shp

&setvar .shapea := [response 'what Shapefile do you want to use? Do not include the .shp']

&setvar .shape := %.shapea%.shp

&setvar .out := [response 'What do you want to call the output coverage? Please use less then 6 characters']

&setvar .dir := bio/bio

&type %.dir%

lg %.dir%

&setvar .gridnum := [response 'How many grids to you want to merge?']

&setvar count = 0

&do&until %count% = %.gridnum%

&setvar .dir := bio/bio

lg %.dir%

&setvar %count%griz := [response 'what Grid do you want to compare to?']

&setvar count = 1 + %count%

&end

&setvar count = 0

/* end the loop for selecting grids

/* This takes the input shapefile and then creates a coverage.

shapearc %.shape% %.out%

&setvar count = 0

&do&until %count% = %.gridnum%

&type [ value %count%griz ]

describe bio/bio/[value %count%griz ]

&setvar .griz = [value %count%griz ]

&setvar count = %count% + 1

/* cut up the grid

grid

/*setwindow -90 -60 -30 20

setcell %.dir%/%.griz%

setwindow %.dir%/%.griz%

/* convert the coverage into a grid

tempz = pointgrid(%.out%)

tempz2 = con(tempz gt 0,1,0)

kill tempz all

tempz3 = tempz2 * %.dir%/%.griz%

tempz4 = gridpoly(tempz3,#)

kill tempz3 all

kill tempz2 all

quit

/* from this point on needs to be repeated for each loop

/* set the local directory information

/*
&setvar .ldir := Yearly_Precip/

/*
&setvar .adir := %.dir%%.ldir%

/*
lg %.dir%

intersect %.out% tempz4 intersect point .001 join

tables

additem %.out%.pat %.griz% 5 5 I

select %.out%.pat

relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW

calc %.griz% = test//grid-code

relate drop test

quit

kill intersect all

kill tempz4 all

/* and done

/* this is the end of the loop for this coverage!!

&end

arcshape %.out% point %.shapea%o

kill %.out% all

/* other extract script

/* ------------------------------------------------------------------------------

/* ------------------------------------------------------------------------------

&sys dir *.shp

&setvar .shape := %.shapea%o.shp

&setvar .out := %.shapea%d

shapearc %.shape% %.out%

/* This takes the input shapefile and then creates a coverage.

/*

&setvar .dir := ../../ambasmap/AMB/Data_and_Documentation/GIS_Data_Files/
&type %.dir%

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := Yearly_Precip/


&setvar .adir := %.dir%%.ldir%


lc %.adir%


intersect %.out% %.adir%sapyrdd intersect point .001 join


tables


additem %.out%.pat LowP 5 5 I


additem %.out%.pat HighP 5 5 I


additem %.out%.pat AveP 2 5 B


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


calc LowP = test//Low_P


calc HighP = test//High_P


calc AveP = test//Ave_P


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := Yearly_Precip/


&setvar .adir := %.dir%%.ldir%


lc %.adir%


intersect %.out% %.adir%napyrdd intersect point .001 join


tables


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


reselect LowP = 0


calc LowP = test//Low_P


reselect HighP = 0


calc HighP = test//High_P


reselect AveP = 0


calc AveP = test//Ave_P


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := Yearly_Temp/


&setvar .adir := %.dir%%.ldir%


lc %.adir%


intersect %.out% %.adir%satyrdd intersect point .001 join


tables


additem %.out%.pat LowT 5 5 I


additem %.out%.pat HighT 5 5 I


additem %.out%.pat AveT 2 5 B


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


calc LowT = test//Low_T


calc HighT = test//High_T


calc AveT = test//Ave_T


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


intersect %.out% %.adir%natyrdd intersect point .001 join


tables


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


reselect LowT = 0


calc LowT = test//Low_T


reselect HighT = 0


calc HighT = test//High_T


reselect AveT = 0


calc AveT = test//Ave_T


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := Vegetation/


&setvar .adir := %.dir%%.ldir%


lc %.adir%


intersect %.out% %.adir%savegdd intersect point .001 join


tables


additem %.out%.pat Veg_Type 5 5 I


additem %.out%.pat Veg_Zone 5 5 I


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


calc Veg_Type  = test//Type


calc Veg_Zone = test//Zone


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


intersect %.out% %.adir%navegdd intersect point .001 join


tables


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


reselect Veg_Type = 0


calc Veg_Type  = test//Type


reselect Veg_Zone = 0


calc Veg_Zone = test//Zone


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := Soils/


&setvar .adir := %.dir%%.ldir%


lc %.adir%


intersect %.out% %.adir%sasoildd intersect point .001 join


tables


additem %.out%.pat Soil_Maj_Type 5 5 I


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


calc Soil_Maj_Type = test//maj_type


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


intersect %.out% %.adir%nasoildd intersect point .001 join


tables


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


reselect Soil_Maj_Type = 0


calc Soil_Maj_Type = test//maj_type


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := Climaticregions/


&setvar .adir := %.dir%%.ldir%


lc %.adir%


intersect %.out% %.adir%salanddd intersect point .001 join


tables


additem %.out%.pat clim_zone 50 50 C


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


calc clim_zone = test//Zone


relate drop test


quit


kill intersect all

/* this is the end of the loop for this coverage!!

/* from this point on needs to be repeated for each loop


/* set the local directory information


intersect %.out% %.adir%nalanddd intersect point .001 join


tables


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


reselect clim_zone = ''


calc clim_zone = test//Zone


quit


kill intersect all

/* this is the end of the loop for this coverage!!

&setvar .dir2 := Q:/gentian/ambasmap/AMB/Data_and_Documentation/GIS_Data_Files/
&type %.dir%

/* from this point on needs to be repeated for each loop


/* set the local directory information


&setvar .ldir := elevation/


&setvar .adir := %.dir2%%.ldir%


lc %.adir%


grid


setcell %.adir%elevationgri2


setwindow %.adir%elevationgri2


%.adir%tghf = pointgrid(%.out%,%.out%-id)


%.adir%tghf2 = con(%.adir%tghf= 0,1,0)


kill %.adir%tghf all


%.adir%tghf3 = expand(%.adir%tghf2,1,list,1)


kill %.adir%tghf2 all


%.adir%tghf4 = %.adir%tghf3 * %.adir%elevationgri2


kill %.adir%tghf3 all


%.adir%tghf5 = gridpoly(%.adir%tghf4)


kill %.adir%tghf4 all


quit


intersect %.out% %.adir%tghf5 intersect point .001 join


tables


additem %.out%.pat elevation 4 8 B


select %.out%.pat


relate add test intersect.pat info %.out%-ID %.out%-ID LINEAR RW


calc elevation = test//grid-code


relate drop test


quit


kill intersect all


kill %.adir%tghf5 all

/* this is the end of the loop for this coverage!!

&sys del %.shapea%o*

arcshape %.out% point %.shapea%o

kill %.out% all

